1.g3n
91'-8%

5-3 J: 11 SPACES @ 6-3" = 689" o
T T T T T T T T T T i
[+] 1 [2] 2] S 1 I+] I+] T K [+] L1 +
198 151" g8l 188"
T g 2 A ¥ T 86 e
—
"W" PANEL NOT SHOWN FOR DRAWING CLARITY WEST RAILING, FACING WEST
BILL OF MATERIAL
DET#|QTY|  PART DESCRIPTION ASTM DESIGNATION
() :\( @ 1_| 28 [0033.903090|W6x25, TYPE 1, FASCIA POST @ 37 3/4° ASTM_AS72 Gr. 50
\ 10 " g 2 [ 1 TBD _ |HSS8x4x3/16° TUBING @ 19'-8’ ASTM AS00 Gr. B
> 3§ 1 2 {1 TBD HSS8x4x3/16° TUBING @ 19'-7 5/8° ASTM AS500 Gr. B
" 5., 1§" 3. 2 | 6 TBD HSS8x4x3/16” TUBING @ 1§'-8 1/2* ASTM A300. Gr. B
= 6 12 16 ‘II“ | T 2 | 2 TBD _ |HSS8x4x3/16” TUBING @ 16'-6 7/8’ ASTM AS00 Gr. B
| 3 64 | 0033.90045 [HSS8x4x3/16* TUBE BLOCKOUT @ 6 ASTM AS00 Gr. B
> == 7 i 15" E‘% 4 | 32 | 0080.05710 |5/8°x10° POST BOLT, NUT, & F.W. ASTM A307
pa 22 ‘I____E% S 32 | 0080.15595 [5/8*x13* HEX BOLT ASTM A307
= = i \ L7, \_ 11 un 6 | 96 | 0080.15036 |5/8°x2* HEX BOLT ASTM A307
1) " 8 Dr"x1" SLOT 7 [ 32 | 0080.15913 |3/16°x1 3/4°x3" SPECIAL WASHER ASTM A572 Gr. 50
@ > 4 14 8 16 8 |[128 | 0080.15901 |S/8° HEX NUT ASTM A307
FASCIA PLATE WASHER (DETALL #15) SPECIAL WASHER (DETAIL #7) 9 [256| 0080.15911 |5/8” FLAT WASHER ASTM A307
H 10 | 10 | 6043.00012 [10 GAUGE “W’ BEAM @ 12'-6* C.-C. AASHTO M180
J@ ] m 10 4 TBD 10 GAUGE ‘W’ BEAM @ 11'-6” (SPECIAL> C.-C. AASHTO M180
9 i 2 3" Il 10 4 6043.00002 |10 GAUGE *W” BEAM @ 6’-3" C.-C. AASHTO M180
13 I J__{B I 11 | 4 | 003390301 |W6X25 POST @ 6'-0° 0.A, (POST #D ASTM A572 Gr. 50
9 8 H |l| X[ 12 6 - DELINEATOR - TO BE SUPPLIED BY FR LAFAYETTE ALUMINUM
7" 13 | 144 | 008015013 |5/8”x1-1/4* SPLICE BOLT (PANEL ASS’'YD ASTM A307
J | H} Il 13 | 144 | 0080.15905 [5/8"x1-1/4" RECESSED NUT (PANEL ASS'Y) ASTM A307
, /C‘D H f 14 | 112 | 0042.21408 |1 1/4°x8" STUD ASTM A449
3'_73" ] 11" I 15 [224 | 0080.19922 {5/16'x2 1/2°x3 1/2° FASCIA PLATE WASHERS ASTM A572 Gr. 50
4 " M Il 16 | 224 0080.19918 |1 1/4* HEX NUT AASHTD Mi164
8 1'-9" By ‘;} ! 17 | 112 | 0080.19921 |1 1/4” x 5" COUPLER NUT W/ RT. HAND MACH. THD. |AASHTO Mi64
13 | 18 | 112 | 0042.21412 |l 1/4" x 12’ MACHINE BOL7, THREAD LEN. @ 3’ ASTM A449
O76" X 113/16" SLOTS (3X) / , I 19 | 8 [0033.90074 [C7x9.8 CHANNEL SPLICE e 2'-6 1/2” [aST™ A36
H , %= SUPPLIED BY DTHERS
" 31.73n §[1-107"
3n —3" 4 We x 2 | I NOTES:
2Z . . | | 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.
2. GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16", PRIOR TO GALVANIZING.
||| 3.  ALL POSTS SHALL BE SET NORMAL TO GRADE.
’ </ 4, SPLICES FOR THE STEEL BEAM GUARDRAIL SHALL LAP IN THE DIRECTION OF TRAFFIC.
Il
M . 1 '._3" | i 5. QR/]\EI}RJSI'II\'II? [;(OZ’II‘IEIJT SPLICE sgg%] gllil_r}I;owDED IN ANY RAIL BAY SPANNING THE END OF AN INTEGRAL ABUTMENT BRIDGE AND AT ALL
| . : UP! RE EXPANSI 3
Y/ A @ ' 4_" 6, SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR THE
| ' A — 2 | | NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT, FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ONTHE
I <7 H WPS-3035 —[7-6" ) | DRIVER'S LEFT.
j IE -1 ! /-—' — -1 5/1 6 | ‘ 7. THE 1/2" EXPANSION JOINT SHOWN IN THE RAILING ELEVATION IS DESIGNED FOR BRIDGE LENGTHS UP TO 80 FEET, ANY LONGER SPANS
= - \ ‘ | " WILL HAVE TO BE MODIFIED TO ACCOUNT FOR THEIR MOVEMENT. ’
am A ) — B I T 8. FOR RADII LESS THAN 950 FEET, HSS8x4 TUBES SHALL BE SHOP BENT TO FIT THE APPLICABLE CURVE.
! ' 1 " 9. THE MINIMUM DISTANCE FROM THE LAST POST TO THE END OF SLAB IS 1-6".
' " 14 ’ M | w | 34—1 10. FERRULES SHALL BE 12L14 COLD DRAWN CARBON STEEL.
- : q 11. HOLES IN RAIL FOR RAIL TUBE ATTACHMENT WILL BE SHOP DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT
2 . ‘ ] | ” . — PRIOR TO INSTALLATION
x A ' N ' n 12. THIS RAILING MEETS THE REQUIREMENTS FOR A TL-2 SERVICE LEVEL.
X 4 A 4 1 -22 : H :
i < s oEt o1d x 3" SLOT_|| l‘i | ITEM_#: 52544 | SHEET 1 OF 2
7 _ JE ik STRUCTURAL STEEL TO
i L e - (4X) N CONPLY V7 ASTH A6 BRIDGE RAIL DETAILS SHEET
T . N — | il | ROUTE # TH-4, RURAL MINOR COLLECTOR, CLASS 2, BRIDGE 4 OVER WHITNEY BROOK
T < | gl Wi Wi CALAVANIZING L 5F PER TOWN OF CRAFTSBURY, COUNTY OF ORLEANS, VERMONT
’ 4 | | EITHERWISEl SPECIFIED., R{NO. DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY
' E E
||_1|. ‘3X 3 I 3 TOLERANCE UNLESS v v
T2 (%K) " 12 HOLES % /38" ' Bt SUCERTIFIED DRAWN | EP. | 11316
_3 -._‘_3_3_.._ FRACTIONS - * 1/16” ¥ ELDERLEE,INC. [gljJ<reucarce]] CHECKED | DL 1 11416
FASCIA POST (DETAIL #1) 44 ANGLES = = e QY 04K CORNERS, NEW YORK 14578 ORI [-IEIMED ot
email: dlong@elderlee.com / epeck@elderlee.com SCALE SCHEMATIC

Tel:315-789-6670 Fax:316-789-66156

=

DRAWING NO.FR LaFAYETTE-CRAFTSBURY (34}




w2 918" & -
53" 11 SPACES @ 6'-3" = 689" 5'-3"

Y_/‘/WW\ C T T T T T T T T T T T T/l/wm "
{1 1] K L1 Kl ] L1 {2l 2] [l 1 [+] [+] [« 1 2] [4] K]
— 9-78" o T 18-8J" o T 18-81" o Y 1883 T 16-65" ,

2 2
h @
"W" PANEL NOT SHOWN FOR DRAWING CLARITY EAST RAILING’ FACING EAST
" 10 1/2"(TYP
374 . 29/32° x 1 1/8° SLOT 10172 (TYP) 3/4% % 2 1/2* SLOT (350 29/32" x 1 1/8" SLOT " ( )
3/ x 2 1720 SLOT (30 ¢8x> TYP. BOTH ENDS 6 1/4"(TYP) . VA x ¢8x> TYP. BOTH ENDS 6 1/4"(TYP)
Bl A= 5 Lo} y o) N T
1 5/8%° © 5 S 1 5/8° /7 © © 5
° L DETAIL 10 < i ° L DETAIL 10-SPECIAL C T .
(@] O [o) (|3-— " (@) (o] (e} T-_ "
G|_3u v G"‘3" 2 (TYP) 61_3" 5!_3" 2 (TYP)
10 Gauge "W" Beam @ 12'-6" 10 Gauge "W'" Beam @ 11'-6"
13'-6 1/2" 12'-6 1/2"
3/4* x 2 1/2* SLOT (3% 10 1/2"(TYP) —1'-6" TO POST C-L (TYP)— 4,
29/32* x 1 1/8° SLOT 13
(8x> TYP. BOTH ENDS B 1/4"(TYP) T 1"
. RO 7o X o} —~3"-[~3"
1 5/87© 7 © a2 L 0© P I | Il IS I
ik DETAIL 10 @ 63" . ¢ . 4
(e} (@] (@]} [] _ _ _ FN _ _ _A _
6-3" H-2"(TYP) . j / /CB— —
- 1
-——10 Gauge "W" Beam @ 6'-3" I S I gl N
' " Q%"j/ @2x1 1/4" SLOTj/ N\ Hssexaxa/16"
7'-31/2 .
/ /-¢3/4' DRILLED THRU <4X>
=8 § ) e
T T X -8-/
| | 3 7 3 3 5/8" NUTS TACKcz/EgLDED X
B KANEE: SPLICE (DETAIL #19)
S I | =T _ o6}
IR i e
7" |' M -3|'~| ) ‘l
' Limn AL :
G’ 19" ¥ I L @ 3 | |
! - ks T — @ — - &— - — -0
:I- p p ! % 3 i 2%"—-1 DETAIL 12 |_3” 35
3 1 Zr ” . FE FL]_ |: ~@3"x2 1/2" SLOTS DELINEATOR DETAIL 2
I
V4 (8X)
16 : = i ITEM #: 525.44 | SHEET 2 OF 2
A 6'-0" i 1l STRUCTURAL STEEL TD
T }‘/ — b COMPLY W/ ASTH A6 BRIDGE RAIL DETAILS SHEET
| e — ROUTE # TH-4, RURAL MINOR GOLLECTOR, GLASS 2, BRIDGE 4 OVER WHITNEY BROOK
' ' ‘—? T — L GV EING ot PER TOWN OF CRAFTSBURY, COUNTY OF ORLEANS, VERMONT
3 / 4 7 . :[ EITHERWISE' SPECIFIED. RINO DATE DESCRIPTION .| DATE DESCRIPTION BY|
(SXD "' ez LERUISE R
- % . : DRAWN E.P. 1/13/16
| FRACTIONS -3 1/16" 2| CHEOKED | oL
BLOCK OUT (DE-T“A”“= #3) DETAIL #1 1 pNaLEs = = v emaikdlong@elderlee.com / epeek@elderlee.com, og%ﬁ%ﬁ%ﬁlc SCALE S;CHEMATIC

DRAWING NO.FR LaFAYETTE-CRAFTSBURY (34)

=o

Tel:3165-789-6670 Fax:315—-789-6615




